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Question Number : 168 Question Id : 4641991672 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 168 Question Id : 4641991672 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Sub-Section Number : 4
Sub-Section Id : 464199109
Question Shuffling Allowed : No

Question Number : 169 Question Id : 4641991673 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 169 Question Id : 4641991673 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 170 Question Id : 4641991674 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 170 Question Id : 4641991674 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 171 Question Id : 4641991675 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 171 Question Id : 4641991675 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 172 Question Id : 4641991676 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 172 Question Id : 4641991676 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 173 Question Id : 4641991677 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 173 Question Id : 4641991677 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 174 Question Id : 4641991678 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 174 Question Id : 4641991678 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Sub-Section Number : 5
Sub-Section Id : 464199110
Question Shuffling Allowed : Yes

Question Number : 175 Question Id : 4641991679 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 175 Question Id : 4641991679 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 176 Question Id : 4641991680 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 176 Question Id : 4641991680 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 177 Question Id : 4641991681 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 177 Question Id : 4641991681 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 178 Question Id : 4641991682 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 178 Question Id : 4641991682 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 179 Question Id : 4641991683 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 179 Question Id : 4641991683 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 180 Question Id : 4641991684 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 180 Question Id : 4641991684 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 181 Question Id : 4641991685 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 181 Question Id : 4641991685 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 182 Question Id : 4641991686 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 182 Question Id : 4641991686 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 183 Question Id : 4641991687 Question Type : MCQ Option Shuffling : No

Correct Marks : S Wrong Marks : 1
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Question Number : 183 Question Id : 4641991687 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 184 Question Id : 4641991688 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 184 Question Id : 4641991688 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1
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Question Number : 185 Question Id : 4641991689 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1
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Question Number : 185 Question Id : 4641991689 Question Type :
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Correct Marks : S Wrong Marks : 1

MCQ Option Shuffling : No

MCQ Option Shuffling : No



() Ay () A (o domn

(o) i () 4
dish I PR
a1 gual O
slall III bl -z
s TV O e- 2

Al Ol sl e daaall Ul sl

s SRR T (T | O |
IVied Mg M- T-1 .2
-4 0 g HEwe IV -1 .3
IV 2 Iz Il <11 - 4

Question Number : 186 Question Id : 4641991690 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

(CHESE () A
clighs T PR
a1 el o
Ll 11 bl -z
s TV A yes 2

Al Ol sl e daaall s gisl

B8 N & T s JE-
IVied MLz 0 -0 T -
I -5 0 .z HEwis IV -
IV -2 I -z NI -2 01 -

B -

Question Number : 187 Question Id : 4641991691 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

(A B ALl flall s L
i of
ST
oSz
Al

Al el il e A all Ala YT i

EEEE
E
= L D —



Question Number : 187 Question Id : 4641991691 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

Al 8 ALl el s L

. |
G
Osc i
Al

Al el il e A all Ala YT i

pEvE) [ ] |
By i T
Lo 2oz 3
Ja@ R 4

Question Number : 188 Question Id : 4641991692 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

MOl A s
Ligale i
ledr &
D= g
Logipe 0

| G PR O SRR | 0 P #

Lt Il
Jag 7 -3
L 3

Question Number : 188 Question Id : 4641991692 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

Ol oA 0SS
Lyale
ledx o
= 7
Legize 2

Al el il e A all Ala YT i

(O ) B S
Bl -

Question Number : 189 Question Id : 4641991693 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



-

4 0L M A3l e Al A

Talk .
Initiative .«
Security .z

Peace A

| G PR O SO | 0 P #

Jasa o N
s oo 2
La 4 3
Lasa (s 4

Question Number : 189 Question Id : 4641991693 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T IS 1 3L e ALy AUIS

Talk .
Initiative .«
Security .z

Peace A

| G PR O SO | 0 P #
Jasa o N
Jasd b 2
BV 8 3
Lasa (s 4

Question Number : 190 Question Id : 4641991694 Question Type : MCQ Option Shuffling : No

Correct Marks : S Wrong Marks : 1
Pl e L

Sl

Pl

<l z

sV 2

AN SN ekl syl il

T

bR
o

Question Number : 190 Question Id : 4641991694 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



T"é}_ﬁ" (1__"“.':" L

Sllgl
Pl
Rk &
sV 2
ERC IR FU RIS ETI

—

bR
o

Question Number : 191 Question Id : 4641991695 Question Type : MCQ Option Shuffling : No
Correct Marks : 5 Wrong Marks : 1

My 40K aa g

clig
Ul
By B
st

0 I [JCR S PR [ SRR, -0 P [

i

EELE

=
i

J
Question Number : 191 Question Id : 4641991695 Question Type : MCQ Option Shuffling : No

Correct Marks : S Wrong Marks : 1

?”L..'a) “4"'5 n da -* f...ﬁ

§ cpl
elig i
Wl o

oy 7
sl

o | W R OSO[BS I * Y

i

EEEE

=
c
3

Question Number : 192 Question Id : 4641991696 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



ol e

el
al e
Oe .z

<o

| G R O PP | 0 P I £

L T ‘< of N
oY) iz 2
L 3z o 3
La o - o 4

Question Number : 192 Question Id : 4641991696 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

cadlcag e 0=

el
al e
Oe .z

<o

| G R O PP | 0 P I £

L T ‘< of N
oY) iz 2
I 3z o 3
La o - o 4

Question Number : 193 Question Id : 4641991697 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

%, KL s e Uy LK

Short .
Light .«
Thin 7z
Weak =

Al el il e A all Ala YT i

e

o B
B O S

Question Number : 193 Question Id : 4641991697 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



%, BRI s e Ly LK

-

Short .
Light <
Thin 7z
Weak .

| G PR O SO | 0 P #

Lah (S
L Z =3
L LI |

Question Number : 194 Question Id : 4641991698 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T Y1 Aally Ml i e Ay A
Sunglass .

Laptop <«

Mobile z

Pager .2

| G PR O SO | 0 P #

L Il
Jass 7 -3
La 3

Question Number : 194 Question Id : 4641991698 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

0 Y1 Aally Ml i e Ay A
Sunglass .|

Laptop .«

Mobile .z

Pager .2

Al el il e A all Ala YT i

i

EEEE
o B
B -

Question Number : 195 Question Id : 4641991699 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



LT PP B [P Y
PR B

Chgyma O

ssbie 7

s o

| G PR O SO | 0 P #

g

L
L
L
L

L.m°[,—_
W b -

i

Question Number : 195 Question Id : 4641991699 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

LEEE
o B
B O S

Question Number : 196 Question Id : 4641991700 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T S0 Ml S e Ay A
Dairy .1

Pen .«

Register .z

Note-book .2

Al el il e A all Ala YT i

EEEE
(O ) B S
B -

Question Number : 196 Question Id : 4641991700 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



Ta 3ulSYL "l S oAby S
Dairy .

Pen .«
Register .z
Note-book .2

| G PR O SO | 0 P #

L Il
L g =3
La 3

Question Number : 197 Question Id : 4641991701 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

§ i ey e ta

e |
Ll o
Ll o~
(e 2

Al el il e A all Ala YT i

e

EEEE
o B
B O S

Question Number : 197 Question Id : 4641991701 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

§ i ey e ta

e
W o
W g
Cpes A

Al el il e A all Ala YT i

e

EEEE
o B
B O S

Question Number : 198 Question Id : 4641991702 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



o pra 4K (1) pSe L
t .

they 1
Py it
i ol
i, o

| G PR O SO | 0 P #

L
L

La
L

L.m°[,—_
W b -

i

Question Number : 198 Question Id : 4641991702 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

T Ba” LK (1) e L
t . t

ey L
Aea
ez
i, o

| G PR O SO | 0 P #

L Il
La z .3
L 3 4

Question Number : 199 Question Id : 4641991703 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

er alat LK (1) e L

s
el o
L E
Jew A

Al el il e A all Ala YT i

-

e

EEEE
P
oS -

Question Number : 199 Question Id : 4641991703 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1



er alat LK (1) e L

e
el o
L E
S0

| G PR O SO | 0 P #

g

EEEE
P
D B =

Question Number : 200 Question Id : 4641991704 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

| LK (1) e L

gl i
& g
L *
Lald o
” -
L.l_-'. o

Al el il e A all Ala YT i

e

EEEE
o B
B O S

Question Number : 200 Question Id : 4641991704 Question Type : MCQ Option Shuffling : No
Correct Marks : S Wrong Marks : 1

| LK (1) e L

gl i
& g
L *
Lald o
” -
L.l_-'. o

Al el il e A all Ala YT i

-

e

EEEE
o B
B -


Free Hand


